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  lnGDPt  * b0 + ,1 lnGcurrentt+ - t

lnGcurrent
  ./012  

t  * ,3 + ,4 lnGDPt + -1t
 

  (3.2) 
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������ !�����"������"������3
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     lnGDPt  * 70 + 71 lnGcapital  t + 8t
     lnGcapital

  (3.3) 

 t  * 73 + 74 lnGDPt + 81t
  

  (3.4) 

$%��(9   lnGDPt  �:5 ;<=>?<@ ABC<?D=EF 45� ���������	����	�
������45�&�� 

   lnGcurrentt �:5 ;<=>?<@ ABC<?D=EF 45����"������"#�45���6���
   lnGcapital

  

t
   e

 �:5 ;<=>?<@ ABC<?D=EF 45����"������3
45���6��� 
tG 8 t, e1tG 81t
b

 �:5 ������	��%���:95
 
0, b1, b3, b4, 70, 71, 73, 74
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3.2 ����������������������  
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�
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���������� 

�
��!�����"1

�
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5���
����� %'�����( 
X>CF-M=-N PDLY-O-Z>@@-? [-\= .XPZ) �%
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 ����#$��%	���
�����������#�	�"Unit Root Test        

 

;BM-    � lnGDPt =    � xt-1 �
�

p

t 1
 + �i � lnGDPt -i + �t

Intercept   � lnGDP

  (3.5) 

t =    � + � xt-1 �
�

p

t 1
 + �i lnGDPt -i + �t

]M=-?L-^=_[?-MN   � lnGDP

  (3.6) 

t =     � + � t + � xt-1 �
�

p

t 1
 + �i lnGDPt -i + �t

 

 (3.7) 

$%��(9 lnGDPt   �:5   ;<=>?<@ ABC<?D=EF 45� 

      � ,� ,� , �      �:5   �������	���5�� 
���������	����	�
������45�&�� 

        p      �:5   "#�
�
45� A<CC-N �(9�
��4'�&���:95�!'�̀a�� X>=BLB??-@<=DBM �
������
3�	 
       �t
 "#�
�
45� A<CC-N [-?F .p2 �(9���9	�4'�&��

	!��4H)
5���!�����	��	��
	45������
��
��"����:5���9	��� A<C �

	!��"
!���
��
45�������	���%���:95
"�&	��!�%�̀a��        
X>=BLB??-@<=DBM $%���9���'� "��'5��%
5������ A<C �(9��	��
	 $%�%�"�!��� bDMDF>F X]c 
.XY<DY- ]MdB?F<=DBM c?D=-?DBM 2 .�

��
 lnGcurrent

      �:5    ������	���%���:95
�J��
3�	 

t ��� lnGcapitalt
 

 �#��J�
�%(��!�� lnGDP) 


		��6�
�
!���%
5��:5  
  H0
  H

 e  � * f    (NBM - S=<=DBM<?O2 

1
   

 :  � g f   (K=<=DBM<?O2 
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U'��h��
� H0 �
%������V
4'5	���(9	(��!I��
�9� (K=<=DBM<?O) 	( P-C?-- Bd PDdd-?-ML- ��V
 
].f2 �����!��!���%
5��(9&%'�5	��� H0

 

 �
%������V
4'5	���(9	(��!I��&	�
�9� (;BM K=<=DBM<?O2 
�'5��#� ZD\?= PDdd-?-ML- 
	!���(9 (3.5) UH� 
	!���(9 (3.72 ��'��%
5������� ��!�����
�9��
%�
���	( P-C?-- Bd PDdd-?-ML- ��V
 I(1) ��:5 ��!��������&	�
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PDdd-?-ML- 
	!���(9 (3.5) UH� 
	!���(9 (3.72 ��5&�5(! ��'��%
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P-C?-- Bd PDdd-?-ML- .d) "�	(���5����
J��� f UH� 2 

�
��!�����"2
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������� ( ABMC j>M j-@<=DBM\ED^) 45����"������"#� 
���"������3
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U(������
���������:5&	� 	(4�)
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�
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��'��
�#(��)�&��������	 (Cointegration) 

1. �%
5��������
���"#��5����	(��!I�� ;BM K=<=DBM<O ��:5&	� $%�&	��'5��
�
������(9( Intercept) ��� �
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3.
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��
�(9���:5 ( j-\DN><@) "�!!�����	�������	4'5 R 	��%
5���
����� ��	
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�et =� e t-1 + ut
 

     (3.8) 

 $%��(9  

et G e t-1  
�          �:5  ����	���5�� 

  �:5  ���
��
�(9���:5 .j-\DN><@\2 � ���� tG t-1 "�!!�����	�����%'�� kAK 

ut 
 

         �:5  ������	���%���:95
�J��
3�	 

 
		3��6�
�(9�J'�
!���%
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 H0 
 H

e � * f  .&	�	(���	
�	��
���J��%3������
�������) 
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 e � g f  (	(���	
�	��
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�������) 



28 

!���%
5�
		��6�
���(����(����� t- \=<=D\=DL 	�!!��������!l�45� b<LYDMMBM � 
��%��
��
#���a�(9 f0fS "��h��
�
		��6�
���� H0 

��)�
()��!��������
��
�(9���:5 (j-\DN><@) &	���V
 mED=- ;BD\- "��J'���(!���%
5� XPZ 
[-\= ��
�(9"��J'
	!�� (3.9) �'5����(9�
&��J'
	!����V
 

e � * f  %��
�)
 ���
��
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      � et =  � et-1 �
�

n

t 1

 +  ci � et-1 + �t

      �	

   (3.9) 

t * �	 t-1 �
�

n

t 1

 +  di �	 t-1 + 
t
 

   (3.10) 

   
		��6�
�(9�J'�
!���%
5� �:5 
   
	!���(9 ./0n2   H0
       H

e � * f .;BM \=<=DBM<?O2 

1

   
	!���(9 (3.10)  H
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0

       H
e � * f .;BM \=<=DBM<?O2 
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e � g f .K=<=DBM<?O2 
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���������	����	����
������  ������"������3
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��!�����"3

���"#��5� 8cb 45����	
�	��
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  ����#$��"Error Correction Mechanism (ECM) 
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�lnGDP   *  �0  + �1 et-1 �
�

p

i 0
 + �i �lnGcurrentt-i �

�

q

j 1
 + Øj �lnGDPt-j + 	t

�lnGcurrent  *  �

 (3.11) 

0  + �1 ut-1 �
�

r

k 0
 + �k �lnGDPt-j �

�

s

l 1
 + 
  l  �lnGcurrentt-l + €t

 

 (3.12) 
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�lnGDP   *  �2  + �3 et-1 �

�

p

i 0
 + �1i �lnGcapitalt-i �

�

q

j 1
 + Ø1j �lnGDPt-j + 	1t

�lnGcapital  *  �

 (3.13) 

2  + �3 ut-1 �
�

r

k 0
 + �1k �lnGDPt-j �

�

s

l 1
 + 
  1l  �lnGcapitalt-l + €1t

 
 (3.14) 

 

$%��(9     �lnGDPt ����!�����(9�
����45�����	
��
������	����������  �  
���� t 

 �lnGcurrentt ����� !�����(9�
����45����"������"#� � ���� t 

   �lnGcapitalt
       �

  �:5 !�����(9�
����45� ���"������3
 � ���� t 

0, �0 , �2, �2
              �

   �:5  ������	���%���:95
�(9	�"�!%3������������ � ���� t-1 

1, �1,  �3, �3
  �

    �:5  ������	��i��
!����������4'�
��%3������
�������  

i , �k ,�1i , �1k

Ø
  �:5  ������	�:%��3�
����
�)
  

jG 
  l ,Ø1jG 
1 l

e
   �:5  ���
�	���
����p45�����	��������	  

t-1, ut-1

	

   �:5  �"
�45� 8??B? [-?F 

t, €t , 	1t,, €1t
 t             �:5  ����  

     �:5 ������	���%���:95
45��������J��
3�	  

�	:95 
 et-1 =   lnGDPt t-1 - �0 - �1 lnGcurrent
 u

t-1 

t-1 = lnGcurrentt-1   - �0 - �1 lnGDP
e

t t-1 

1t-1 =   lnGDPt t-1 - �2 - �3 llnGcapital

 u1
t-1 

t-1 = lnGcapitalt-1   - �2 - �3 lnGDPt t-1 
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lnGDPt �
�

p

i 1

 = � i lnGDPt -i �
�

p

i 1

 + � i @Mc>rrentt -i + 	 t (oM?-\=?DL=-N2 

 lnGDPt �
�

p

i 1
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5����%'�����
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